©. 2% ay:x-b'x[\/tl

XS"& ) X?.,B 1]’}6 'i\'\ ’)J’WIJ Qﬂ/Q,‘JQ, J//(," [\/ﬁ(}

55 )Dﬂ [k, "xl‘ ‘,?\»\c Hc wlin Hll 7€=k /,:5\/ X< -3 ~>hf
Pre _ﬁ)ﬁﬁ\cr ~ %3k )Dﬂ pilalin  PIJFD yQ X >3 ,);X
W W p) < XEHEXA2 < (x0T —>  Sx<U(b

(x> 3 "oy X<%’—
a<x < pwvof



0.2%

&
/

a: XZ‘ é/)‘/*g

~3) n)g oNIR /mwlb jmo’ ?f’my

j - qgf:of,\/c )\ 12

1l »

/N

I/
C

Ji

'a~a\ A3/ ona Yl x20 “‘??S T e sl '\IQQ/Q, Jo»/ o)

sving a - 6x
‘S\ZL&‘VS/
QLS
M Y
W-Y_/*j o gy
3 8 A o

5

-

3
§§7L)

aep sh )6\ )"




,f??)l 3 Yl A )ign 2 ak C6

o &
8,4 YoAGx4G = -
xz-('éX*é“O
A )(l'): ~_éé:/\)l:l- = *&tﬁ
b A
2 =
D: X-6x+3= % p
o= (x-5)-0- & ‘(;‘”("'g'&?)
; — x=d e
SN p/uffl\)\yl \ll\hm e U\cgﬂ% 7\_\:\\ G\ Qor (<) \[(ix;(o ;_(-
A 2x<Rp C<X<D i i
~3-fL<x <-4 i 0240, )

([
A x< 24§00



